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PROBLEM:
Pick the correct output signal and enter the number in the answer box:

Difference Equation, or h[n], and input Output Signal
(@ y[n] = x[n—1] — x[n — 3] and 1. y[n] =4[n—1] — §[n— 3]
X[n] = 8[n — 2]

. y[n] =8[n—3] —68[n—5]

(b) y[n] = é&[n — 1] = (§[n] — &[n —2])

. y[n] =4[n] —é&[n —4]

2
3
4. y[n] =0 foradln
5. y[n]=3 fordln
6

. y[n] = cos(2zn/3) foraln
X[n] = 1+ cos(2rn/3) foraln

(d) yy=conv([1,-1,1,-
1,[1,1,0,0,0])

ANS =
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Pick the correct output signal and enter the number in the answer box:

Difference Equation, or h[n], and input

(a) y[n] =z[n — 1] — z[n — 3] and

afn) =6ln—2]  y{w}= §[n-2-1]

[ANS =2 | — &[n-2-3)
(b) yln] = 8[n — 1] * (8[n] — 6[n — 2))

[ANS = 1 | &iw-N - 8n-2]

2

(¢) yln] =) z[n — k] and

Output Signal

L. y[n] =é[n—1] —dn— 3]
2. y[n] = é[n — 3] —d[n — 5]

o

. yln] = 8[n] - 8fn - 4

4. yln] =0 foralln

oo

. Y[n]=3 foralln

o

y[n] = cos(2mn/3) for all n

k=0
z[n] =1+ cos(2mn/3) for a;;\‘\ Lse Fre%uemaj ReSFmse
[ANS = 5§ | & .
AY_ ) 2
(d) yy=conv([1,-1,1,-1],[1,1,0,0,0]) A—;l:[“‘i) et (1+ oS0 )
W =0
ANS = )
| { - 3| ..|| ?ﬁ(:ﬁ):e"o(Hz):?,
ST H(i)= €1+ 2e057% )
-1 1 -1 < £ )
| O O o -| g N
! # =2 9lnl=|:3 + O-cos2nn/.
&(w) -§[n-4) J -3 3
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